School Certificate 2008

Revision Questions

Physics
· This set of questions comes from the School Certificate Science Test 2008.  The highlighted section indicates which questions are included.

· Please use the separate Answer Booklet when recording your answers.

· This set of questions should be returned to your class teacher without any additions or alterations.
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Question 16
Our sun is a medium size star. As it gets older it will use up its fuel.
What is most likely to happen during the next stage of its life?

A.
Contract


B.
Expand


C.
Explode


D.
No change
Question 17
A person on Earth has a mass of 100 kg.  What would their mass be on the moon?

A.
100 kg


B.
Less than 100 kg


C.
More than 100 kg


D.
This cannot be predicted.
Question 23
A car is moving in a straight line at a constant speed.  What would the correct distance versus time graph look like?
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Question 26
The figures show how a lens can be used to correct short sightedness.
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What is the purpose of the artificial lens in Figure 2?

A.
To absorb the light rays


B.
To reflect the light rays


C.
To refract the light rays


D.
To scatter the light rays
Question 27
The relationship between frequency (ƒ), wavelength (λ) and speed (v) is represented by the formula v = ƒλ.

The wave shown has a frequency of 10 Hz.
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Measure the wavelength and then using the formula calculate the speed of the wave.

A.
2 cm/s


B.
5 cm/s


C.
10 cm/s


D.
20 cm/s

Question 28
An astronomical observatory is being built in Antarctica.  Its location is 4100 metres above sea level at one of the calmest, coldest places on Earth.  The observatory will be controlled by satellite.

Why is this observatory being built in Antarctica?

A.
The extreme cold will aid light absorption.


B.
The atmosphere is unpolluted and will allow clearer images to be obtained.


C.
The hole in the ozone layer will allow astronomers to gather more information.


D.
The altitude and polar location mean it is closer to some stars, allowing them to be seen in greater detail.
Question 39
What does the Big Bang theory explain?

A.
The formation of Earth


B.
The formation of stars


C.
The formation of the solar system


D.
The formation of the universe
Question 61 (9 marks)

A student investigated the change in current flow through a lamp, using different batteries. An ammeter was connected in series and a voltmeter was connected in parallel to the lamp.
[image: image5.emf]
(a)
Draw a circuit diagram for this experiment using the symbols given. (3 marks)
The results obtained were tabulated. The student did not record results for 6 volts and 16 volts.
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(b)
Plot the results and rule a line of best fit for them. (3 marks)

(c)
Use the graph to predict the current for a voltage of 6 volts. (1 mark)
(d)
Use the graph to predict the current for a voltage of 16 volts. (1 mark)
(e)
Describe the relationship between voltage and current. (1 mark)
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